Trigonometry Function Identities

Quotient Identities

tang = sinB
cosB
cotB = cqse
sin®

Pythagorean ldentities

sin’e + cos?0 = 1
sec’® - tan’e = 1

csc?6 - cot’e = 1

Cofunction ldentities

sin (1 6) = cosB cos( G) = sinB
2 2

tan (l G) = cotB cot (l- 6) = tanB
2 2

t:sc(l G) = secH sec( 6) = cscB
2 2

1T radians = 90°
2

Double Angle Identities
sin(26) = 2 sinB cosB
cos(20) = cos’6 - sin’6
cos(26) = 2 cos?6 - 1
cos(28) = 1 - 2 sin’®

2 tanB
tan(28) = ——————
(26) 1 -tan’8

Sum to Product of Two Angles

sinB + sing = 25in( 854) )cos( eéq) )

sinB - sing = Zcos( e;¢ ]sm( eéq) )
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cosB + cosp = 2005(

cosB - cosp = -25in(
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sing = csch csch = sinB@

cosB = pppr secBb = ey
1 1

tang = poT cotB = “ang

Even/Odd Indentities

sin(-8) = -sinB

tan(-0) = -tan8

cos(-8) = cosB
cot(-8) = -cotb

csc(-8) = -csch sec(-0) = secb

Sum/Difference Indentities

sin(8 £ ¢) = sinB cos¢  cosb sind

cos(0 £ ¢) = cosO cos¢ F sinB sing

tanB xtan ¢

tan(® £ ) = <7506 tan ¢

Half Angle Indentities

<in%0 = 1- 0025(28)
c0s26 = 1+ cgs(ZB)

2. _ 1-cos(28)
tan"® = 1505 (28)

Product to Sum of Two Angles

[cos(O - §) - cos(B + ¢)]

sinB sing =

2
cosB cos¢ = [cos(® - ¢) 42-cos(9 )
sind cost = [sin(® + ¢); sin(8 - ¢)]
cosB sing = [sin(® + ¢)2- Sin(® - o)
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